
UNIT 6: QUESTIONS 

 

1. Are these sentences TRUE or FALSE?  
 

- Today, industrial and agricultural products are often sold in places far away from where 
the are produced because transport is more efficient, faster and cheaper. 

- Sea transport is the most popular for its ability to mobilise people and godos almost 
anywhere on the planet. 

- Air transport is the most modern transport system, which is why big cities usually have 
an airport. 

- The railway and steamship were introduced in the Second Industrial Revolution. 
- The construction of some tourism infrastructure has damaged ecosystems, which are 

subjected to pollution, noise and a build-up of rubbish.  
 

2. Draw a timeline on the history of transport and include the means of transport in the 
following images: 

 

 

 
3. Do you prefer “beach holidays” or “mountain tourism”? Defend your argument.  

 

 

 

 

 

 

 



4. Complete the gaps: 

lower - destinations - American - Antiquity - grow - business -  Italy - mass - billions - leisure 

 

Tourism is a _____ phenomenon of _____ which moves and employs huge numbers of people 
around the world. The origins of tourism date back to _____, but it only became widespread in 
the 20th century.  

International tourism has continued to _____ in recent years and already excedes 1.4 _____ 
people. Visiting other countries is becoming easier because of _____ air transport fees, the 
internationalisation of current _____ models, and the ease of obtaining visas. 

The main tourist _____ are found on the ______ and European continents. Among the most 
visited countries are France, Spain, the United States, _____, and China. 

 

 

 

 

 

 

 

 


